- Watch the video

Look at the picture. Complete the sentences. Use the correct

adjective and too er enough. (use ¢he video for infermation). @

big/ wear the shirt / small
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Complete the sentences. Use too or not.....enough with the

1 My son wants to take a trip by himself. | think he's
He should wait until he's ® . (young/ old)

e 2. | do not like this book. It's . It's just not
to keep my attention.  (boring/ interesting)

3. | hate living in the city. It's | . It's not
for me. (noisy/ quiet)

4. | have five chiidren. This house i_s _ . It's not
— for all of us. (small/ big) |

' 5. Jane is only four-feet tall. She's ¢ to reach the
ceiling. She's not to fix the smoke alarm. (short/ tall)
6. This apartment is . It's not

for me to pay every monthg(expensive/ cheap)

7. This activity is ___ o It's not . . for
me to understand. (difficult / easy)

" 8. The train station is | .It's not
to walk. (far / close)

9. The water is . It's not to make tea.
“ (cold / hot) © :
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